Unptiju
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<hznnnipjui uwhiwiwthwlnui' 512 MB
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Guipunpulip

Unptjup gubiuibtinid £ ynnpphtwumuyht hwppnipgjub (0, ) Ytwhg hmubdly (N, M) Gtwmhb ninhn K
guwnltinh Uhongny: 8nipwpwbynip guwnmlny dnptifup upnn E dtdwgity hp x Ynnpphtwunp A -hg ny wiytih,
huy y Ynnpnhlwnp® B -hg ny wibih:

bnpdwy, bpb dnplifup quignud £ (x,y) Ylinnd, wyw 36y puynyg jupnn ©gunlly nhwh (x*, y*) Yhwp,
tpb x < x' s x+AlLy<y 2y+8B

Wuhbipl, Wkl gunyny dnpbjup Yupnn b adtidwgity hp Ynnpnhtwnbtiphg dtyp (Guud tpyniup), puyg
Unnpnhtwnp thnppwghty sh Juipnn:

Gptip dpwghp, npp Ygubh wwpptip ninhtiph pwbwyp, npnbp dnptitup jupnn £ wigbt) ulqpiwlub hnhg
guwiiluph Jinht hwabitne hwdwp: Lwith np wunmwuhiwbp Jupnn k hbot) qunm 366 phy, qutip wyb
1000000007 -h (10° + 7) pwdwibnig dtugnpnp:

Ununpughli wfjugiifip
Uninph dhuly mnnnid wmpguwd G hhtig wdpnne pytp” N, M, A, B, K:
Gipuwyhls wafjugbilip

Glpnmd whwp L wpmwot) dty phy " mwupptp ninhttph pubtwlp, npntp dnptjup jupnn £ wbght) guiuih
Ytinhtt hwubttne hwdwn:

Ophlnuly
UnLup GLp
31232 4
Ophluulh pruguanpnieinil
Pnnp hiwpuwnp ninhotipp

(0,0) -> (1,0) -> (3,1)
(0,0)->(1,1) -> 3,1)
(0,0) -> (2,0) -> (3,1)
(0,0) > (2,1) -> 3.1)

Glyowulimpphibp
e Ghpwhbnhp 1 (10 dhwynp) N,M,A,B,K < 8
¢ GlUpwhlnhp 2 (20 “hwynp) N,M,A,B,K < 50
¢ Glhpwhulnhp 3 (25 dhwynp) N,A,K < 3000, M,B < 1
e Glpwhilnhp 4 (14 vhwynp) N,M,A,B,K < 300
e Glhpwhlnhp 5 (15 dhwynp) N,M,A,B,K < 1000
e Glpwhlinhp 6 (16 Whwynp) N,M,A,B,K < 3000
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frownuwihp wjumnibptiiatitin

duniwimh vwhiwbwthwlnid” 2 Juyplyub
<hznnnipjui uwhiwiwthwlnui' 512 MB
Uohnp' 100 dhunp

Guipunpulip

®npphy Uundytjh nioh fpunuihp wjundtiptituntitiph hwdupwodnt: Guw nuuwynply £ hp wdundtiptiwaitipp
tipnlLwuyuubt qupudnid” gnpgh Yypw: Snpgnp Jupnn Gbp yunmftipugity npuyitiv NxM- swthh quitinuijugnp
nupw: Snipupwbynip Jubnuynid Jupnn kjhbt wnugtpugnytp dby wgwmndbpbiu: Wjundtptiubtph
wybiytiu Gh npywd, np bpwbg wpdytine nunnnipynibiitinp qniquihtin ti gnpgh Gapbinhi:

<hdw Uuniytp gutyubinid £ hts-np hippuwjuimi pyudp wunndbptiwbtpp nnipu pbipk) quipuwdhg: pu
hudwin fw Jupnn £ guiijugud wjundtiptiin ptinpty b yupty wyt, puyg thuyh winwy b ninhn qony:
Wywmnuitiptwb upnn E nnipu quy qupudhg, bt dhisle gnpgh tgpp ny th wyp wwmndbiptitugh shwbnhwh: Con
npnid Uwdybh phpwugpnid sh fubgbtginid wundtiptiot, th wyumndtipiiu@l wdpnnenigyudp gnpghg
hwtitjnig htimn £ dhuyh wbginid hwenpn wjwmndtiptituwgh pinpnipjubtp: puw hwdwp wdth wbgud tw
wyiyhuh wjundtiptiiu £ pinpnud, npb ninhn gony Juipnn £ nnipu qui qupudhg: Puyg uygpiiwljub
nuuwynpnipniip Jupnn Ewybybtu hak), np hts-np wjwmndbptwdbp htwpuygnnp sihth hwbit) gqupudhg:

Muhwbgynid k gpby dOpwughp wupgtynt hudwp, ph mpgud nuuwynpnipyub nhiygpnid Uuniytyl wnudtjugnybip
pwth wjwmnutiptin Juipnn L hwbit) qupudhg:
Ununpughfi wifjuglifip

Wnwohlt mnnnid wmpgwd &b gnpgh n, m (1 £ n, m < 2000) suwthbipp: <wenprn n wmnnbtphg jnipupwbynipnid
upjud £ m updiyng: Fwnwnl yuimuyatipp tpgwsd o jhntpny, wjunndtipibwbtpp® ‘<, >, 'v', """ uhdynjittiph
Uhongny: '<' uhiynip gnyyg £ wmwhu, np wwmndbiptwd Ypupdyh y -otph tjuqiub nignnipyudp, wyuhtiph wighg
auwfy, >'upiynp’ y -tbiph wodwd ninnnipyudp, wyuhliph dwpuhg we, ‘“v' upiynp” x -tph wédwd ninnnipyudp,
wyuhbiph Yytplithg tbpply, huly “Y uhdynp® x -tph fuqiwb nipnnipyudp, wyuhbiph dtpplthg Ytple:

Gipuyhl wviafjugblip

Mbwmp E wpumwdt] vk phy’ wwmndbptiwbbph pubwyp, npnbip htwpuynp t gnipu pbipb quipudhg:

Ophinuly

UnLup GLPp
13 %]
>.<
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Glypwpubmppilp
* Ghpwhutinhp 0 (0 dhwynp) ophtiuljaiipp

e Glpwhbnhp 1 (30 dhwynp) n,m < 30
e GlUpwhlnhp 2 30 dhwynp) n,m < 500
e Glpwhbnhp 3 (40 dhwynp) n,m < 2000



Owtqyuottin b pudwbwpupitn

duniwimh vwhiwbwthwlnid” 1 Juyplyub
<hznnnipjui uwhiwiwthwlnui' 256 MB
Uohnp' 100 dhunp

Guipunpulip

SpJwd N, M b K pytiph nhiypnid Juukibp, np K Gplupnipyut quibquop gtinkighl t, Gt tpu pnnp
wmwpptinp M -p ygipuquiignn phiuub pytp Gh W wyn pnnp mupptph wpununppup hwiphuwinud £ N pyh
pwdwbwpuwn: Ophtimuy N = 12, M = 6 b K = 4 pPYtiph niypmd {1, 2, 2, 3} b {1, 1, 6, 1}
qubquottinp qtintighy &b, puy {-1, 1, -6, 1}, {1, 12, 1, 1} U {1, 2, 3, 4} quigquolbpp ny:

Qtiq mpJwd G N, M, L K pytp: <wpluynp £ hwpyly ponp ginkghly quiigqudttph pwbwyph' 10°+7 -h
pwdwbitijhu unwgynn Whwgnnpnp:

Ununpughli wifiuglikip
Uninph thuy mnnnid mpgud Gb dbjuub ppgumwbhytipn wigwmyud N, M W K phwlub pytpn:
Gipuyhl wviafjugblip

Gpnid whinp £ wipnwdty Ut phy pnpnp htwpuynp ginkghly quiigqudtitph pwbwyh' 10°+7 -h pudwbtjhu
umnwgynn dhwgnpnp:

Opfluuly

UnLup GLp
661 4

12 5 2 12

2 3 1000000 1000001
Puguunpnijoyniiy

Wnwehli ophiujht hwdwwyumwuhawbing gbintighly qubgguottpd o {1}, {2}, {3}, {6} qubqyuodttipp:
Gnynnpn opphtiwjht hwiwwyuwnmwupuwbnn qintighl) quiquidttint o
{1, 1}, {1, 2}, {1, 3}, {1, 4}, {2, 1}, {2, 2}, {2, 3}, {3, 1}, {3, 2}, {3, 4}, {4, 1}, {4, 3}
quiquotitinp: Gppnpn ophtiwjht hwiwwywmwupuwbinn qintigh quibgqyuobttint it 1000000 hwn 1 -hg
Juquyud quibiqyuon b pnnp wyh 1000000 tpjuipnipyub qubqyuobtinp, npntn pytphg ukhp 2 L, dhwgwop’
1:

Ghpowulimhpblilin

e Glpwhblnhp 0 (0 Whudnp) Ophtyutipp,
o Ghpwhinhp 1 (10 shuynp) K = 1, 1 < N, M < 1012,
, K<107, M < 107, 1 < N < 10%2,

e Glhpwhbnhp 2 (10 dhwynp) 1 < M

o Glhpwhinhp 3 (10 shuynp) 1 < K < 3, 1 < N, M < 10°,

o Ghpwhinhp 4 (10 shuynp) 1 < K < 30, 1 < M = N < 10°,
o Ghpwhinhp 5 (30 dhuynp) 1 < K < 30, 1 < M, N < 107,

o Ghpwinhp 6 (10 dhwynp) 1 < K < 5000, 1 < M, N < 10°,
o Ghpwhinhp 7 (10 shurynp) 1 < K < 10°% 1 < M, N < 10°,
e Glpwlulnhp 8 (10 dhwyynp) 1 < K < 108, 1 < M, N < 10°:



